Lali Bar Stool

Assembly Instructions

1. Openthe box and lay out all the pieces taking particular care to split the 45mm (x8) and
50mm screws (x4). If you don’t use these different screws in the appropriate places, it will
cause an issue right at the end and then you’ll realise what you’ve done!

Lower Bar




Semi-circular = _——
Plastic Washer | Double ended

N ‘ SEHEWS Metal Washers

o e Screws
- 50mm Screws |

W b

Wooden
Dowels

? "/, ] — =~ g ki
,«// /‘/ \ / g
i Metal screw = =
% head
& - Allen Key

8 x 45mm Screws and 4 x 50mm Screws look
very similar but play different roles.

A B

A Y .
SV -\3") v
oA

g




2. Begin to assemble the first side of the stool.
a. Screw inthe double ended screws and insert the wood dowels into the holes on both
sides (as per the image below).
b. Attach the seat rest bars on both sides with the large hole facing inwards.
Fix the piece into place using the semi-circular plastic washer over the end of the
double ended screw, then a metal washer and finally tighten together with a metal nut
using the spanner provided.

3. Fitthe lower bars to this side of the stool (front and back)

d. insert wooden dowel into the lower bar hole and connect to the side piece with large hole
facing inwards. Then insert metal screw head into the large inward facing hole (align so you can
screw the 50mm into it).

e. Insert a metal washer and then screw in a 50mm screw and tighten with the Allen key
provided.

f. Repeat for the other lower bar. You should now have all 4 bars securely fastened in place on
one side of the stool.




4. Attach the seat and back rest to this side of the stool.
g. Start by fixing the seat into position. Insert the 2 x wooden dowels and put the seat into
position. Insert a metal washer into each hole and then tighten to 75% (i.e. don’t tighten fully
because you may need some wiggle room to connect the seat to the back later) with a 45mm

screw.
h. Next attach the back rest using 2 x metal washers and 45mm screws. Tighten to 75%

i. Finally, join the seat to the back using 2 x 80mm screws and 2 x metal screw heads. Allow the
screw heads to fall to the back of the hole before trying to screw the 80mm screw in place and

fully tighten.

j- Fully tighten the seat and back screws to the frame using the Allen key so everything is 100%

tightened.

Metal washer & 45mm screws
tightened to 75% using the spanner

AR SN O/ / 0 AN O NGRS




5. Attach the 2™ side to the stool

k. Set up the 2" side by inserting the wooden dowels and screwing in the metal double ended
screws.

l. Place the 2" side on top of the completed 15t side and line up all the wooden dowels with
their respective partner holes. Once aligned, tap the 2" sides dowels into place using your
hand.

m. Using 2 x metal washers and 2 x 50mm screws, attach the 2" side to the lower bars.
Tighten to 100% using the Allen key. (See images d & €)

n. You can then turn the stool so the 2" side is on the bottom, insert the remaining screws and
washers and tighten using the Allen key. (See image c)

0. Once all screws are tightened to 100% using the spanner, your stool is ready to use

L o5

ENJOY!




